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Set0l Answers for No.9124

areal = {7,8,10, 14} (4 A B)=1 n(A U B)=8
Ansl =| 1= ar:;;”f{zza{i}“ 2=| n(4-B)=4 n(U-(4 U B))=5
| lareas=(4.9,11,12,133]  -B-A=3 Math@MUT |
areal = {7,10, 11} _n(Ar\B):Z n(A U B)=6
Ans2=| 1= “re“Z;_{{l’Q‘;} ,.2=| n(4-B)=3 n(U-(4 U B))=6
L _area4:ar{e§, 5?6, 8,9,12}] Ln(B-d)=1 Math@MUT ]
[ areal = {15} ) i
area? = {7} n(intersect(4, B, C)) =0 n(4-B)=3
area3 ={3,12} n(union(4, B, C)) =11 n(B-4)=4
dnsi<| 12 aread = {2,9} e n(d4d N B)=1 n(C N (4 B))=4
area5={ } ’ n(B N C)=2 n(Cu (4 n B))=8
area6 = {10, 11} nd4 U C)=9 n(intersect(4, B, C)) =17
area7 = {6,8,16} n(Bu C)=10 Math@MUT
L Larea8 = {0, 1,4,5,13, 14} ]
[ 4 U B=1{3,568,10,12,13,15,16} | [ 1 =(A v B={areal, area2, area3})
- AnB={} 2=(B - A= {aread})
AV B={3,4579,10,11,13, 14} 3=(4' N~ B'={aread})
BN A=1{68121516} 4=(B n C={area, areat})
Ans4 = A-B=1{3,5,10,13} , Ans5 = S=(A4 n (B v C)={area2, area4, areals})
B -A= {4,7,9,11,14} 6=((4 N B) U (4 n C)={areal, aread, area5})
(4 U B)=1{4,7,9,11,14} 7=((C—-4) n (C-B)={area7})
A N B=1{47,911 14} 8=(C -4 ={areal, area2})
L(A4 —B)': {4,6,7,8,9,11,12,14,15,16} | L 9=((4 —B)’— C={area2, area3, area8}) J
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Set0l Answers for No.9197

areal = {4,6,8,12,13}

area2 =1{9} n(d N B)=1 n(4d U B)=8

Ansl =| .1 = L .2=| n(4-B)=5 n(U-(4 U B))=3
area3 ={7,11} _
aread — 3. 5. 10} n(B-A4)=2 Math@MUT
areal = {:;,51{,11}?, 14} nd nB)y=1 n(4du B)=11
Ans2=| 1= areaz = 2=| n(4-B)=4 n(U—-(4 U B))=4

area3 =1{4,5,7,8,9,10} [

aread = {2, 6,13, 15} n(B-4)=6 Math@MUT
[ areal = {13,14} ] ]
area? = {2,15} n(intersect(A4, B, C)) =1 n(4-B)=2
area3 = {10, 11} n(union(4, B, C))=9 n(B-—A4)=3
ns3—| 1 aread = { } . n(d N B)=3 n(Cn (4 v B))=2
area5 = {8} ’ nBnNC)=2 n(Cu (4 N B))=5
area6 = {12} n4du C)=7 n(intersect(4, B, C)) =13
area7 = {7} nBu C)=7 Math@MUT
L Larea8 = {3,4,5,6,9} ] ]
4w B=1{4,509,10,13,14} 1 [ 1=(A v B={areal, areal, area3})
4N B={9} .2:(A’—B:{area4})
AU B'={56,738,9111214} 3=((A-B) U (B-A)={areal, area3})
Bd= {4,10,13} .4:(C’: {areal, area2, area3, area8 })
Ansd = A-B={514} , Ans5 = 5=(C U (A n B)={area2, aread, area5, area6, area7})
B—4= {6,7,8,11,12} 6=((4 v C) n (B U C)={area2, area4, areal, areab, area7 })
(4 U B)=1{6,7,811,12} 7=((A-B) n (A-C)={areal })
A N B=1{67781112} 8=(4" N B ={area’, area8})
_(A—B)':{4, 6,7,8,9,10,11,12,13}] L .9:(A’ N (B—C)':{area6, area7, area8}) i
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Set0l Answers for No.9252

areal ={0,2,4,6}

X

[Page 0003]

area2= {7} n(dnB)=1 n(d4duUB)=8
nsi=| d=| T sy 2| nA-BI=4 (U= (4 U B))=3
aread = {3,9,10} n(B-4)=3 Math@MUT
areal = {11} nd N B)=2  n(duU B)=6
Ans2=| 1= afer:;’i:{ggglfg} ,2=| n(4-B)=1 n(U-(4 U B))=8
aread = {4,5,6,7,13, 14, 15, 16} n(B-4)=3 Math@MUT
[ [ areal ={6,8,11} ] 1
area2 = {1,13} n(intersect(A4, B, C)) =0 n(4d-B)=35
area3 = {15} n(union(4, B, C)) =11 n(B-4)=2
g | | areat=17.16} S n(4 n B)=2 n(C (40U B))=3
area’ = { } ’ n(B nNnC)=1 n(Cu (4 nB))=7
areab = {2} n(4d v C)=10 n(intersect(4, B, C)') =16
area7 = {12, 14} n(Bu C)=8 Math@MUT
L Larea8 = {3,4,5,9,10}] ]
I AU B={2,6,7,911,13,15,16} 1 1=(4 U B={areal, area2, area3})
A0 B={709} 2=(A'-B'={area3)
AU B={3,4,56,7,80910,12,14} 3=((A-B) U (B—A)={areal,area3})
Bnd= {2,11, 13,15, 16} 4= (C’: {areal, area2, area3, aread })
Ans4 = A-B=1{6} , AnsS = S=(B n (4 v C)={area, areas, areab})

B —A=1{3,4,5,8,10, 12, 14}
(4 U B)=1{3,4,5,8,10, 12, 14}
A N B={3,4,5,810,12, 14}

L(A —B)'= {2,3,4,5,7,8,9,10, 11, 12,13, 14, 15, 16 } |

.7=((A=B) U (A4-C)={areal, area2, aread})
8= (C’—B’: {area2, area3})
9=((B-C) — A = {areal, aread, area5})

6=((4 N B) U (B n C)={areal, areas, areab})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢



DRV ERHRNCIVIVEND’0:9:6:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.00.0.0:0.0:0:0.60.0.0:0.0:0.0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | - WA LTI T ORI Jo [0 X/570:¢
Set0l Answers for No.9312

areal = {8, 10}

area2 =1{9,11} n(4 N B)=2 n(4d U B)=8

Ansl =| 1= 2= n(4-B)=2 n(U-(4 U B))=5
areal = {8} n(d N B)=2  n(4 U B)=5
Ans2=| 1= “::e“j;_{{gz’ 163}} 2= n(4-B)=1 n(U-(4 U B))=7
aread = {3,4,5,7,10,11,12} n(B-4)=2 Math@MUT
[ [areal=1{0,2,8,11,12}] T
areal = {4} n(intersect(4, B, C)) =1 n(4d-B)=5
area3 = {6, 15, 16} n(union(4, B, C)) = 13 n(B-A)=4
szl 1o aread = { } . nAd N B)=2 n(C A (40U B))=2
area5 = {10} ’ n(B N C)=2 n(C v (4 N B))=5
area6 = {13} n(4 u C)=10 n(intersect(4, B, C)) =16
area7 ={1,7} n(B U C)=8 Math@MUT
L L area8=1{3,5,9,14} | )
4w B={0,1,4,6,7,8,9,10} [ .1=(A':{area3,area4}) ]
A/r\B:{IO} 2=(B —A={aread})
4V B :'{1’2’ 3,5,7,10} 3=(4" U B'={areal, area3, aread})
B nA4={0,4,68,9} 4=(A n C={area4, areas})
Ans4 = A-B={17} , Ans5= S=(4 v (B n C)={areal, areal, area4, area5, area6 })
B —4=1{2,3,5} 6=((4A U B) n (4 v C)={areal, area2, aread, area5, area6 })
(4 U B)=1{2,35 7=((A-B) A (A-C)={areal })
A N B={23,5} 8=(A4 - B = {area3, area6})
[(A-B)=1{0,2,3,4,5,6,8,9,10}] L 9=((C—B) — A= {area3, areab, area8}) ]
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Set0l Answers for No.9397

X [Page = 0005]

areal = {11, 15} nd N B)=1 n(duU B)=6
Ansl =| 1= area = {4} 2= n(4-B)=2 n(U-(4 U B))=6
area3 = {8, 12, 14} n(B-A4)=3 Math@MUT
area4 =1{5,6,7,9,10, 13} |
areal = {8, 92’,10’113’ 14,17} W4 A B)=1 n(d U B)=10
Ans2=| 1= ar;’;“: {_5,{6,51}2} ,2=| n(4-B)=6 n(U—(4 U B))=4
aread = {4,7,11, 16} n(B-4)=3 Math@MUT
[ [ areal = {18} i l
area = { } n(intersect(4, B, C)) =1 n(4d-B)=2
area3 = {0, 6,12, 17} n(union(4, B, C)) = 12 n(B-A)=5
P aread = {7} S n(d N B)=1 n(C A (4 U B))=3
' area5=1{1} o n(B N C)=2 n(Cu (4N B)=7
area6 = {19} n(4d v C)=38 n(intersect(4, B, C) ) =19
area7 ={3,9,13,16} n(B v C)=11 Math@MUT
Larea8 = {2,4,5,8,10, 11, 14, 15} ]

(4 U B=1{2,3,4,5,6,8,9,11,12, 13,14} |
AN B=1{8 13}

AU B'=1{0,1,3,4,567,8,10,11,13}
BN A={20912 14}
A-B=1{3,4,5611} i

B -4=1{0,1,7,10}
(4 U B)=1{0,1,7,10}
A~ B={0,1,7,10}
L (4-B)'=1{0,1,2,7,8,9,10, 12, 13, 14} |

Ans4 = Ans5 =

[ A =(A4 v B={areal, area2, area3})
.2:(B'—A: {area4})
3=((4-B) n (B-4)=1{})

A4=(4 v B={areal, area2, area3, aread, areal, areab } )
S=(4 v (B n C)={areal, areal, aread, area$, area6 })
6=((4 Y B) n (4 v C)={areal, area2, aread, area’, areat } )
7=((C—-4) n (C-B)={area7})

.8:(B, U C= {areal, area?2, area3, aread, area7, aread8 })
.9=(B' N (4 —C)’= {aread, area7, area8})

>
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Set0l Answers for No.9449

areal = {3,6,8}

Ans4 =

[Page = 0006]

n(4 n B)=1 n(4 U B)=8
Ansl =| 1= areal = {9} 2= n(4-B)=3 n(U-(4 U B))=5
area3 =10,5,10, 11} n(B-A)=4 Math@MUT
aread = {1,2,4,7,12}
””e;]f {8’91(1)1} n(4d N B)=3  n(4du B)=8
Ans2=| 1= “rfas‘_{{sl’ ; 6}} L 2=| n(4-B)=2 n(U-(4 U B))=4
araeaeéfaz {2, 3:, 77, 12} n(B-4)=3 Math@MUT |
[ areal = { } ]
area? = { } n(intersect(4, B, C)) =2 n(4d-B)=1
area3 = {9, 10, 12, 13} n(union(4, B, C)) =11 n(B-A)=4
i 1— aread = {3 5 n(4 N B)=2 n(C N (4 U B))=3
' area5=1{0,1} a n(B N C)=2 n(Cu (4N B)=7
area6 = { } nd U C)=7 n(intersect(4, B, C)) = 13
area7 = {5,6,8,14} n(B U C)=11 Math@MUT
L L area8=1{2,4,7,11} | ]

AU B=1{4,528,10,11,14}
A~ B={8, 11,14}

AU B=1{4,67,8911,12,13,14}
BN A={510}
A—-B={4}
B-A4=1{6,7,9,12,13}

(4 U B)=1{6,7,9,12,13}

A N B={6791213}

[(A-B)=1{5,6,7,8,9,10, 11, 12, 13, 14} ]

A=(4 N B={area?})

2=(B-A4={area3})

3=(4 N B'={area4})
4=(B n C={areas, areab})

S=(B n (4 v C)={area2, areal, areab})
6=((4 N B) U (B n C)={areal, areas, areab })
J=((B-4) n (B-C)={area3})
8= (B’— C= {aread, area7 })

L 9=(4 N (C—B)’z{areal, area2, areal })

, AnsS =

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.9562

‘”eflzft’llf} nd N B)=1 n(du B)=8
Ansl =| 1= area;_e{“S; 28y 2T MA-BI=2 (U= (4 U B))=4
aread = {2,5,9,12} n(B-A4)=3 Math@MUT ]
areal =2{f,{7,}13} n(d N B)=0  n(4 U B)=8
Ans2=| 1= area3ilr{ec6z S o 1o 15y p2=| nA-B)=3 n(U-(4 U B)=5
aread = 3,5, 10, 11, 14} n(B-4)=5 Math@MuT
[ i areal = { } ] ]
area? = {0, 15} n(intersect(A4, B, C)) =0 n(4d-B)=1
area3 = {4, 18} n(union(4, B, C)) =11 n(B-A4)=3
3| 1o aread = {10} 5 n(4 N B)=2 n(C N (4 U B))=2
= areas=1{ } Pl = n(B N C)=1 n(C U (4 N B))=9
areab = {9} n(4 v C)=9 n(intersect(4, B, C) )= 19
area7 ={2,6,11,13,14} n(B U C)=11 Math@MUT
L Larea8={1,3,5,7,8,12,16,17}] ]
[ AU B=1{4,57,9,10,11,14,15,16} 1 r I=(4 A B={area2})
- 40 B={10} 2=(A-B={areal })
4 v B=1{4,6,8,10,12,13, 16, 17, 18} 3=((A4-B) U (B-A)={areal,area3 })
Bn A= {5,7,9,11, 14,15} 4=(B n C={areas, areab})
Ans4 = A-B={4,16} . AnsS = S=(4 N (B v C)={area2, aread, area’ })

06=((4 N B) U (4 n C)={areal, area4, areal })
7=((C—-4) n (C-B)={area7})
8= (C,—B’: {area2, area3})
9=(Cn (A—B)vz {area5, area6, area7 }) ]

B —A=1{6,8,12,13,17, 18}
(4 U B)=1{6,8,12,13,17, 18}
A~ B'=1{6,8,1213,17,18}

L(4-B)={5,6,7,8,9,10, 11, 12, 13, 14, 15, 17, 18 } | -
PO 00000:000:000000000000 0000 000000000000000000000000 0000000000000 0000000000000 0000000 00000 0S OISO PSS 0000006006000 00
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Set0l Answers for No.9721

areal = {4,6,12}

area2 =1{9,10} n(4 N B)=2 n(4 v B)=7

Ansl =| .1 = ,.2=| n(4-B)=3 n(U-(4 U B))=4
area3={2,5} B
wread o (3.7 8111 n(B-A)=2 Math@MUT
areal;{?%s,lio,lﬁ} n(d ~ B)=3  n(4duU B)=9
Ans2=| .1 =| e 1D L 2=| n(4-B)=4 n(U-(4 U B))=3

area3=1{7,12}

aread = {6.8,9} n(B-4)=2 Math@MUT
[ areal = {1,4,8,12} | i
areal = {2} n(intersect(4, B, C)) =0 n(4-B)=5
area3 ={5,7,11} n(union(4, B, C)) =11 n(B-4)=3
ansi<| 12 aread = {13} e n(4d N B)=1 n(Cn(4uB))=1
area’ = { } ’ n(B N C)=0 n(C U (4 N B))=4
area6={ } n(d U C)=38 n(intersect(4, B, C)) =17
area7 = {6,16} n(Bu C)=7 Math@MUT
L Larea8 = {3,9, 10, 14, 15, 17 } | J
AU B={5,8,9,11,12, 14,15} i 1 =(B = {areal, aread’}) ]
, A4 N B={53811} 2=(A4 - B'={area3})
4 v B=1{4,5,6, 7’ 8,10, 11, 13, 15, 16, 17} 3=((A N B) = {areal, area3, aread })
B N A4=1{912 14} 4=(4 v C={areal, area2, area4, area’, areab, area?7})
Ans4 = A4-B={15} , Ans5 = S=(B N (4 v C)={areal, areas, areab})
B —A= {4,6,7,10,13,16,17} 06=((4 N B) U (B N C)={areal, area’, areat })
(4 v B),: {4,6,7,10,13,16,17} J=((B—-4) U (B-C)={area2, area3, areab })
A~ B={4,6,7,10,13,16,17} 8=(C - B = {area2, area3})
[(A—B) =1{4,5,6,7,8,9,10,11,12,13, 14,16, 17} | L 9=((B—A4) - C = {area4, area5, area’}) i
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areal = {1,2,5}

DGRV ERRNCIVIVEND’$:0:6:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.:0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0:¢ | - WA R I T I I TON 010 Jo [0 1°) 0 ¢
Set0l Answers for No.9789

! n(4nB)=1 n(4dU B)=6
Ansl=| .1 = a“rr;“32__{{8109}} ,.2=| n(4-B)=3 n(U-(4 U B))=6
aread = 10,3,4,6,7, 11} n(B-4)=2 Math@MUT
“r;“f;{;ol}l} n(4 N B)=3  n(4duU B)=8
Ans2=| .1 = afer:‘;_‘{3 §513 25| MA-BI=1 a(U-(4 U B))=3
areat— 4.9, 12} n(B-A)=4 Math@MUT
[ [areal={8,9,10,13,14}] ]
area? = {18} n(intersect(4, B, C)) =0 n(4A-B)=6
area3={1,3,5,6} n(union(4, B, C)) = 13 n(B-A)=4
P aread = {2} 5. n(4 N B)=1 n(C A (40U B)=1
mWIE| A areaS={ } STl B A C0)=0 n(C U (4 N B))=4
areab = { } n(4d v C)=9 n(intersect(4, B, C) )= 18
area7 = {12,17} n(Bu C)=8 Math@MUT
L Larea8 = {4,7,11, 15,16} | ]

AU B={1,2,4,5,910,11,12}
A~ B={11,12}

AU B=1{23,45,6718,910,11,12}
Bnd={1}
A-B=1{2,4,5,9,10}

B -A4=1{3,6,7,8}

(4 U B)=1{3,6,7,8}

A4~ B'={3,67,8}
(A-B)={1,3,6,7,8,11,12}

>

.]=(B'= {areal, aread })
.2=(A'—B': {area3})
3=0(4 n B)’: {areal, area3, aread })
4=(B n C={areal, area6})

S=(A4 n (B v C)={area2, aread, area$5 })
6=((4 N B) U (4 n C)={areal, area4, areal })
7=((B-4) n (B-C)={area3})
8=(B'-C= {aread, area7})

L ,9=((B—A)’—C’: {aread, area$5, area7})

Ans5 =

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.9795

Ans4 =

X [Page 0010]

areal = {7,9}

B nd N B)=1 n(du B)=8
Ansl=| .1 = area;ieczi_4{;06} 11y 2= MA-B) =2 n(U=(4 L B)=3
aread = 3,8, 12} n(B-4)=5 Math@MUT
areal = {2116’{;2’ 14} nd N B)y=1  nduU B)=7
Ans2=| 1= arzg_g7 3 2= n(4-B)=4 n(U-(4 U B))=7
aread = {2,3,4,5,9, 11,12} n(B-4)=2 Math@MUT
[ areal = {3,11,16} | T
area? = { } n(intersect(4, B, C)) =0 n(4-B)=4
area3 = {9, 14, 18} n(union(4, B, C)) = 12 n(B-A4)=5
T aread = {2} S n(4d N B)=0 n(C A (4 U B))=3
mI=AE areas=1{ } ol = n(B A C)=2 n(C U (4 N B))=6
area6={4,5} nd v C)=9 n(intersect(4, B, C)) = 18
area7 = {6,8,10} n(Bu C)=9 Math@MUT
L Larea8 = {1,7,12,13,15, 17} ]
4 v B={1,2,56,9,1012} I A =(A4'={area3, aread})
' AN B=1{6,12} 2=(B -A'={areal})
AV B=1{3,406,7,8,9,11,12,13, 14,15} .3:(‘4’ A B = {aread})
BnA4={1,2510} 4=(4 v C={areal, areal, aread, areal, areab, area? })
A-B=1{9} , Ans5 = S=(B v (4 n C)={area2, area3, area4, area’s, area6 })

B —A=1{3,4,7,8,11,13,14,15}
(4 U B)=1{3,4,7,8,11,13, 14,15}
A~ B=(3,4,7,811,13, 14,15}

L(A-B)=1{1,2,3,4,5,6,7,8,10, 11, 12, 13, 14, 15} ]

6=((A4 U B) n (B v C)={area2, area3, area4, area’, areab })
7=((C—-4) u (C—-B)={aread, areab, area7 })
8= (A' U C= {areal, area?, area3, areab, area7, areas })
9=((B —A),— C={areal, area2, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢



DGRV R NCIVIVEND’'0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.00.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0:0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:9.0:0.0.0:0.0:6:00 ¢ | ALV TON R I O N D704
Set0l Answers for No.9839

areal = {4, 6,10, 14}

X

rea? = (3} n(d N B)=1 n(4d U B)=17
Ansl =| 1= a:;ae;_gs by 2= A-B)=4 a(U=(4 v B))=5
aread = {7,8,9, 11, 13} n(B-4)=2 Math@MUT
‘Z”f";;g{‘z} i n(4d N B)=4  n(4d U B)=8
Ans2=| 1= 2:223:{1’0 1213y 2= MA-B)=1 (U= (4 L B))=3
aread = {4,6.7) n(B-A)=3 Math@MUT
[ [ areal ={4,15,17} | l
area2 = {5,11} n(intersect(4, B, C)) =1 n(4A-B)=4
area3=1{2,10} n(union(4, B, C)) =12 n(B-A4)=3
ns3o| go| aread=1{12} 5 n(d N B)=3 n(C N (4 U B))=3
IEEEN greas= {14y 0T n(B A C)=2 n(C U (4 N B))=7
areab = {8} n(4 u C)=10 n(intersect(4, B, C) ) =15
area7 = {3,13} n(Bu C)=9 Math@MUT
L Larea8=1{6,7,9, 16} ]
4V B={4,6,7,9,14,15,17} I 1 =(B = {areal, aread})
4N B={7,9} 2=(A-B={areal})
AU B=1{5,7,8,910,11,12,13,15,16,17} 3=(4' ~ B'={aread})
B N A4={4614} .4=(A’: {area3, areab, area7, area8 })
Ans4 = A-B={1517} , Ans5 =

[Page = 0011]

B —A4=15,810,11,12,13,16}
(4 U B)=1{5,810,11,12, 13, 16}

A~ B'={58,10,11,12,13,16}
[(A—B) ={4,5,6,7,8,9,10, 11,12, 13, 14, 16 } |

S5=(C U (4 n B)={area2, area4, area$5, areab, area?7 })

.7=((C-A4) v (C- B)= {area4, area6, area? })
.8=(B' N C= {areal, area8})
L 9=(C N (B-A) = {aread, area5, area7})

O6=((4 v C) n (B vy C)={area2, aread, area’, areab, area?7})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢



DGRV R NCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0.0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.00.0.0.0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.:0.0:0.0.6°0.0.0:0.0:0.0.0:0:0:0.:0.0:0.0.0:0.0:0.0.6:0.0.0:9.6:0.0.0:0.0:6:0.0 ¢ | WA LI IV TO N RO I Lo 72579 ¢
Set0l Answers for No.9843

areal = {2, 6,10} nd nB)y=1 n(duB)=6

Ansl =| 1= ;Zi_{g,gg}} 2= n(4-B)=3 n(U-(4 U B))=5
aread (0. 1.4.5,7) n(B-A)=2 Math@MUT
areal =13,7} n(dnB)=1 n(duU B)=9
Ans2=| .1 = areal = {14} L 2=| n(4-B)=2 n(U-(4 U B))=6
area3=1{0,2,3,4,12,13} n(B-A)=6 Math@MUT
area4 ={1,6,8,9,10, 11}
[ areal = {3,11,13,15} | ]
area2={7,10} [n(intersect(4, B, C))=0 n(4-B)=4
area3 = {19} n(union(4, B, C)) = 10 n(B-A4)=2
s3] 12 aread=1{ } 5 n(4 N B)=2 n(Cn(4uUB)=1
' area5=1{} - n(B N C)=1 n(C U (4 N B))=5
area6 = {4} nd U C)=9 n(intersect(4, B, C) ) =17
area7 = {17, 18} L n(Bu C)=6 Math@MUT
L Larea8 ={5,6,8,9,12,14,16} i
AU B=1{4,6,8,10,11,13,14,15,16} | [ .1 =(B = {areal, aread}) 1
, 4N B={810; 2=(4'-B={aread})
4w B'=1{3,56,7,8,9,10,11,12,13, 14,16} 3=((4 U B) = {aread?})
B nA4={415} 4= (A’= {area3, areab, area7, area8 })
Ans4 = 4 _’B: {16,11,13, 14,16} , Ans5 = S5=(4 v (B n C)={areal, areal, aread, area5, area6 })
B -4={3,5,7,9,12} 6=((4 v B) n (4 v C)={areal, areal, aread, area’, area6 } )
(4 U B)=1{3,5,7,9,12} 7=((B-A4) N (B-C)={area3})
A~ B'={3,57912} 8=(4'-B' = {area3, area6})
L (4-B)=1{3,4,5,7,8,9,10, 12,15} ] L 9=(B N (C-A4) = {areal, aread, area8}) i
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DGRV ERRNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.:0.0.0:0:0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:9.0:0.0.0:0.0:6:0.0 ¢ | WAL T IV TO N L0 I Lo ) 94
Set0l Answers for No.9854
areal = {2,10}

area2 = {3,12} n(4 N B)=2 n(4 v B)=7

Ansl =| .1 = ,.2=| n(4-B)=2 n(U-(4 U B))=5
area3={5,7,8} B
aread={1,4,6,9, 11} n(B-4)=3 Math@MUT
areal = {5’26,’9{’ ;3’ 143 n(4d " B)=0  n(4uU B)=9
Ans2=| .1 = areas= 2= n(4-B)=5 n(U-(4 U B))=6

area3 =1{4,7,10,11}

aread = (8,12, 15, 16,17, 18} n(B-4)=4 Math@MUT
[ areal = {2,5,6,11,17} ] il
area? = { } n(intersect(4, B, C)) =1 n(4d-B)=6
area3 ={ } n(union(4, B, C)) =10 n(B-A4)=2
ns3=| 1= aread = {7} P n(4d N B)=1 n(C N (4uv B)=4
' area5 = {13} e n(B N C)=3 n(C v (4 N B))=5
areab = {4,12} n(4 v C)=10 n(intersect(4, B, C) )= 18
area7 = {20} n(BuC)=5 Math@MUT
L Larea8 = {3, 8,9, 10, 14, 15, 16, 18, 19} | ]
A v B={2,4,5,6,7,8,9,10,12,13} .1:(3': {areal, aread})
,A N B=1{4,9,10} 2=(A'-B={aread})
4V B =12, 3,’4’ 5,6,8,9,10, 11} .3:(A/ U B = {areal, area3, aread })
BN A={7,12,13} 4=(B v C={area2, area3, area4, area’, areab, area7})
Ans4 = A-B={2,5,6,8} , Ans5 = S=(B N (4 v C)={area, area5, areab})
B -A= {3,11} 06=((4 N B) U (B N C)={areal, area’, areab})
(4 v B)’: {3, 11} 7=((C-4) v (C-B)={area4, areab, area7 })
A N B= {3,11} .8=(A' U B'= {areal, area3, area4, areab, area7, area8})
L (A—B)':{3,4,7,9,10,11,12,13} ] L .9=((C—B)’—A={area3,area6,area8}) |
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DGRV R NCIVIVEND’'0:9:6:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.6:0.0.0:0.0:6:0.0 ¢ | WA LI T IV IO N LI O N /5794
Set0l Answers for No.9862

; “r;fl{z {51’86}11} n(d N B)=4  n(4 U B)=7
dnsi=| .1=| eaar;a3i{!2; ,.2=| n(4-B)=2 n(U-(4 U B))=4
wread = 13.7.9.10) n(B-4)=1 Math@MUT
”realzzil;g’iI;gZ} n(4 N B)=3  n(4 U B)=8
Ans2=| .1 = “’;fea;_{’ls’} ,.2=| n(4-B)=4 n(U-(4 U B))=6
aread = 2,5, 6,8, 10, 14} n(B-4)=1 Math@MUT
[ [ areal=1{6,7,8,13} ] |
area? = { } n(intersect(4, B, C)) =1 n(4d-B)=5
area3 = {1} n(union(4, B, C)) = 12 n(B—A)=2
szl 1 aread = {3} 5. n(4 N B)=1 n(C A (4 U B))=3
IEEEN geas =11y YT n(B N C)=2 n(C U (4 N B))=7
area6 = {9} n(4 v C)=11 n(intersect(4, B, C) )= 12
area7 = {4,5,10, 12} n(Bu C)=38 Math@MUT
L L area8= {2} i i
AUB:{273’435’6’8’9’11712} [ .IZ(AmB:{aVEGZ}) i
' 4N B=1{6} 2=(B —A={aread})
AU B'=1{2,4,67,8910,11,12} 32((A-B) A (B—A)=1{ 1)
B nA4={35} 4=(A n C={aread,area’})
Ans4 = A-B=1{2,4,8,9,11,12} , Ans5 = S=(4 n (B v C)={area2, aread, area’ })
B -A= {7,10} 6=((4 N B) U (4 n C)={areal, aread, areal })
(4 v B)’: {7,10} 7=((C—-4) v (C-B)={aread, areab, area7 })
A~ B={7,10} .8=(A4 U B ={areal, area3, aread, area6, area’, area8})
L (4-B)=1{3,5,6,7,10}
X [Page = 0014]

] L 9=(C n (B-4) = {area4, area5, area7 }) i
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Set0l Answers for No.10278
1=1{5,10
‘”“’2 }7’ 13§ nd N B)=2  n(du B)=7
area?2 =
Ansl =| .1 = area3—{1!6 9} ,.2=| n(4-B)=2 n(U-(4 v B))=6
v B-4)=3 Math@MUT
aread = {2,3,4,8,11,12} n(B-4) ath@
areal = {12, 14}

area?= {8.9,13) n(4d N B)=3  n(4 U B)=8

Ans2 =| .1 = ,.2=| n(4-B)=2 n(U-(4 v B))=4
a:;}:ji 16{,47),51!01,51}1 } n(B-4)=3 Math@MUT
[ areal = { } l i
area? = {9, 12} n(intersect(4, B, C))=1 n(d-B)=1
area3 = {5} n(union(4, B, C)) =10 n(B-A4)=2
ansi<| 12 aread = {3} e n(4d N B)=3 n(C N (4 U B))=3
aread = {7} ’ n(B N C)=2 n(C U (4N B))=9
areab = {4} n(4 v C)=9 n(intersect(4, B, C)) = 14
area7 = {6,11,13,17} n(B v C)=10 Math@MUT
L Larea8 = {8, 10, 14, 15, 16 } | ]
4 v B={6,10,11,12,14,15} [ .]:(Brz{areal,area4}) 1
AN B={6,11, 14} 2=(B'—A={aread})
A v B=1{4756, 7? 8,9,11,12,13,14,16} 3=(4 N B ={aread})
B N A4=1{10,15} 4=(B v C={area2, area3, aread, areal, areab, area? })
Ansd = A-B={12} , AnsS5 = 5=(C N (A4 v B)={aread, area5, area6})
B —d= {4,5,7,8,9,13,16} 6=((4 N C) v (B n C)={aread, areal, areab })
(4 U B)=1{4,57,8,9,13,16} 7=((C-4) n (C-B)={area7})
A4 N B'=1{4,517,8,9,13,16} 8=(C—A4'={areal, areal})
L(A-B) ={4,5,6,7,8,9,10, 11,13, 14,15, 16 } | L 9=((B-C) —A = {areal, area4, area5}) i
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Set0l Answers for No.10361

Ans4 =

areal = {5,10, 11}

rea2 = {8} n(d N B)=1 n(4d U B)=6
Ansl =| .1 = a:eZ§—_{4 7y e nA=B)=3 m(U=(4 L B)=S
aread = {3,6,9,12, 13} n(B-4)=2 Math@MUT
“r‘;“f?l{olzlg} n(4 N B)=2  n(4duU B)=8
Ans2=| 1= aref;ef {‘3 6.5.0. 11 2=| MA-B)=1 n(U-(4 U B)=4
aread= (4,5, 7, 14) nB-A)=5 Math@MUT
[ areal = {17} ] ]
area? = {4,13} n(intersect(4, B, C)) =2 n(4A-B)=2
area3 =1{3,9,11} n(union(4, B, C)) =11 n(B-A4)=3
R aread = {2} 5 n(d N B)=4 n(C (4 U B))=3
= areas={1,5} P n(B N C)=2 n(C U (4N B))=7
area6 = { } n(d v C)=38 n(intersect(4, B, C)) = 15
area7 = {10, 15} n(Bu C)=10 Math@MUT
L Larea8={6,7,8,12,14,16} | ]
A U B=1{4,678,10,12,13,1516,17} | i I=(A A B={area2})
. A0 B=1{6,10} 2=(4-B'={area3})
A v B=1{4,506,8,9,10,11,12,14} 3=(A-B)n (B-4)={})
BnA= 17,13,15,16,17} .4:(A’: {area3, area6, area’, aread })
A-B={4,8,12} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areal, area6 } )

B —A=1{59,11,14}
(4 U B)=1{5,9,11,14}
A~ B'={50911,14}

X [Page 0016]

[(4-B)=1{5,6,7,9,10, 11, 13, 14, 15, 16, 17} |

6=((4 v B) n (4 v C)={areal, areal, aread, area’s, area6 })
J=((B-4) v (B-C)={area2, area3, areab })
8= (A’ U B= {areal, area3, aread, area6, area7, area8 })
9=(C N (4- B)/: {areal, area6, area7})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.10532

Ans4 =

[Page 0017]

areal ={5,8,9,10, 14}
area? = {7}
area3=1{3,4,6}
aread = {11,12,13}
areal = {5,13}
area2 =1{3,7,10, 15}
area3 ={1,12,14}
area4 ={2,4,6,8,9, 11}

areal = {1,11} ]
areal = { }
area3=1{2,7,8,16,17}
aread ={ }
area’ = {6}
areab = { }
area7 ={0,9, 13}
L Larea8 = {3, 4, 5,10, 12, 14, 15, 18, 19} |
AU B={01,2,3,4,5,10} i
AN B={1,510}

AU B={0,1,234,56,7289,10,11}
BnAd={}
A-B=1{0,2,3,4}

B -A4=1{6,7,8,9,11}

(4 U B)=1{6,7,8,9,11}

A~ B={6780911}
(4-B)=1{1,5,6,7,8,9,10, 11}

Ansl =| .1 =

Ans2 =| .1 =

Ans3 =| .

Ans5 =

>

n(4 n B)=1 n(d4d U B)=9
,.2=| n(4-B)=5 n(U-(4 U B))=3
n(B-4)=3 Math@MUT
n(4d N B)=4 n(4d U B)=9
,.2=| n(A4-B)=2 n(U-(4 U B))=6
n(B-4)=3 Math@MUT
n(intersect(4, B, C)) =1 n(d-B)=2
n(union(4, B, C)) =11 nB-A4)=5
P n(4 n B)=1 n(C N (4 U B))=1
T n(B N C)=1 n(C U (4N B))=4
n(4 v C)=6 n(intersect(4, B, C)) =19
n(Buw C)=9 Math@MUT

d=(4'= {area3, aread })
2=(B—-A4A={area3})
3=(4 N B'={aread})
4= (B’= {areal, area4, area7, area8 })

S=(B v (4 n C)={area2, area3, aread, areas, area6 })
6=((4 U B) n (B v C)={area2, area3, aread, areal, areab })
7=((A-B) n (A-C)={areal })
8=(B-4= {areal, area4})
9=((4 —B),— C= {areal, areab, area7})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.10688

areal = {11,12,14,15,16}

area? ={ } n(4d N B)=0 n(4d v B)=38

Ansl =| .1 = ,.2=| n(4d-B)=5 n(U-(4 U B))=5
areal = {7} n(d N B)=2 n(4du B)=8
Ans2=| 1= area?ria<{20f5{,26’,89}, 11y 2= =B =1 a(U=(4 U B))=4
areat— {1, 5.4 10) n(B-A4)=5 Math@MUT
[ [areal = {6,38,10,15}] |
area = {14} n(intersect(4, B, C))=0 n(4d-B)=5
area3 = {11,12} n(union(4, B, C))=11 n(B-—A4)=2
nsi<| 12 aread = {7} e nd N B)=1 n(C n((4vB))=1
areas = { } i n(B N C)=0 n(Cu (4 nB))=5
areab = { } n4 v C)=9 n(intersect(4, B, C)'): 13
area7 ={3,4,9} n(Bu C)=7 Math@MUT
L area8={5,13} | ]
AU B=1{4,6,7,809,11,12,13} | [ .1=(A v B={areal, area2, area3}) ]
AN B={6913} 2=(B'-4'={areal })
4V B=1{4,506,7,8,9,10,12,13, 14} 3= (A' U B'= {areal, area3, area4})
Bnd= {11} 4=(A v B={areal, areal, area3, area4, area5, areat6 } )
Ans4 = A-B=1{4,7,8,12} , AnsS = S=(B N (4 v C)={area2, areal, areab })
B —A= {5,10, 14} 6=((4 N B) U (B n C)={areal, areas, areab })
(4 U B)=1{5,10, 14} .7=((C-A4) v (C-B)= {aread, areab, area7 })
A~ B'={510,14} 8=(4" U B ={areal, area3, aread, area6, area’, area8 })
| (4-B)=15,6,9,10,11,13,14} | L 9=((B-A4) - C = {area4, area5, area7}) ]
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Set0l Answers for No.10868

[Page = 0019]

Ans4 =

“reflzfi’;}z} n(dnB)=1  n(du B)=7
Ansl =| .1 = are;e_“{l‘s S5y 27 MA-B)=2 m(U=(4 U B)=S
aread = {4,7,9,10, 11} n(B-4)=4 Math@MUT 1|
“realzfl{’gl}l} n(d N B)=1  n(4 U B)=7
Ans2=| .1 = are;‘;e_“{gs Joy 2= n-BI=2 a(U-(4 v B))=6
aread = {0,2,3, 6,10, 12} n(B-4)=4 Math@MUT
[ [ areal ={2,3,13} ] ]
area? = { } n(intersect(A4, B, C)) =0 n(4d-B)=6
area3 = {9, 14} n(union(4, B, C)) =12 n(B-A4)=5
ns3—| 17— aread={1,4,5} 9 n(4d N B)=0 n(C N (4 v B))=6
IEEEN geas=1( ) T n(B A C)=3 n(C U (4 N B))=7
area6={7,11,15} nd v C)=10 n(intersect(4, B, C)) = 15
area7 = {6} n(Bu C)=9 Math@MUT
L Larea8 = {8, 10, 12} | J
4V B={2,3,4,6,7,10,14,15} .1 =(A v B={areal, area2, area3 })
, A N B=110} 2=(B-A'={area2})
A v B={1,3,5172_8,9,10,11,12,13, 14,15} 3=((A-B)n (B-4)={})
Bnd= 12,4,6} 4= (A/: {area3, area6, area’, aread })
A-B=13,7,14,15} , AnsS = S5=(C n (4 v B)={aread, area5, area6})

B -A4={1,5,8,9,11,12,13}
(44U B)=1{1,58,9,11,12,13}
A4 N B={1,58,9,11,12, 13}
(A-B)=1{1,2,4,5,6,8,9,10, 11, 12,13}

6=((4 n C) U (B n C)={aread, area’, areat})
7=((B-4) v (B-C)={area2, area3, areat})
.8=(A’ N B'= {area7, area8 })
9=((C—-4) - B={areal, aread, area8 } )

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.10900

X

00201

L(A-B)=1{1,2,5,6,7,8,9,10, 11, 12} ]

“realr:ﬂgg’ ii’}ls} (4 A B)=2  n(4 U B)=8
Ansl=| .1 = “a::a;_{é; gy 2= nA-B)=4 n(U-(4 U B))=4
L Llareat={5.6,11,12y ] -nB-A)=2 Math@MUT |
areal = {2’52{’81}3’ 4 n(4 ~ B)=1 n(4 U B)=8
Ans2=| 1= arezr;f {‘7 o.10; 2=| MA-B)=4 n(U-(4 U B))=3
I | aread= {4,511} L n(B-4)=3 Math@MUT ]
[ _area1={8, 10} T i
areal = {6} n(intersect(4, B, C)) =0 n(4-B)=2
area3={1,3,13} n(union(4, B, C)) =12 n(B-4)=6
aread = { } n(4d N B)=1 n(C N (4 U B))=3
Ans3 =| .1 = ,.2=
area’ = { } n(B N C)=3 n(Cu (4 nB))=7
area6={2,9,12} n(d U C)=9 n(intersect(4, B, C)) = 14
area7 = {4,7,11} n(Bu C)=10 Math@MUT
L L area8=1{0,5} | ]
4V B={1,2,3,45,60911} I .]:(Brz{areal,area4})
'A N B=1{5} .2=(A—B'={area2})
A v B={3,45,7,8,10,12} 3=((A-B)n (B-4)={1})
BnA4={1,2,60911} 4=(B v C={area2, area3, area4, areal, areab, area7 })
Ans4 = A4-B={3,4} , Ans5 = S=(B N (4 v C)={areal, areal, area6})
B -4A= {7,8,10,12} 6=((4 N B) U (B n C)={areal, area5, areab})
(4 v B)':{7, 8,10, 12} 7=((C-4) v (C-B)={area4, areab, area7 })
A~ B'={7,8,10, 12}
[Page =

8=(4" n C'={area3, area8})
.9=((A-B) - C = {area5, area6, area7})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.11693

Ans4 =

[Page 0021]

areal = {4,7,10, 14, 15}
areal = {8}
area3 = {12,13}
area4 =1{5,6,9,11,16}
areal = {4,6,7,11}
area = {1}
area3 =1{5,8,10}
area4 ={2,3,9}

areal = { } ]
area = {4, 10}
area3 ={3,9,16}
aread ={ }
aread = {2}
areab = { }
area7 ={5,7,11, 13}
L Larea8 = {6, 8,12, 14, 15} |
AU B=1{2,3,46,8,11,13,1516} |
AN B={}
AU B=1{567,910,12,13,14,15, 16}
BN A={2343811}
A-B=1{6,13,15,16}
B —A4=1{51,9,10, 12,14}
(4 U B)=1{57,9,10,12, 14}
A N B={517,910,12, 14}

Ansl =| .1 =

Ans2 =| .1 =

Ans3 =| . ,.2=

Ans5 =

>

[(A-B)=1{2,3,4,5,7,8,9,10, 11, 12, 14} |

n(4d N B)=1 n(4 v B)=8
,.2=| n(4-B)=5 n(U-(4 v B))=5
n(B-4)=2 Math@MUT
n(4 N B)=1 n(4d v B)=8
,.2=| n(A-B)=4 n(U-(4 U B))=3
n(B-4)=3 Math@MUT
n(intersect(4, B, C)) =1 n(4-B)=0
n(union(4, B, C))=10 n(B-4)=3

n(4 N B)=3 n(C N (4 U B))=1
n(B N C)=1 n(CuU (4n B))=7
n(4 v C)=7 n(intersect(4, B, C)) = 14
n(B v C)=10 Math@MUT

A=(4 N B={areal})

2=(B—A={areal})

3=(4" N B ={aread})
A4=(4 N B={area2, area’ })

S=(4 v (B n C)={areal, areal, area4, areas, area6 })
6=((4 v B) nn (4 v C)={areal, area2, area4, areas, area6 })
J=((B-4) n (B-C)={area3})
.8=(C’—A’:{area1, areal })
9=((C—B) — A= {area3, areab, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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areal = {3,5,10, 11}

_(A—B)rz {1,2,3,4,5,6,7,8, 11,12, 13 } |

n(d N B)=2 n(4d U B)=7
Ansl =| 1= “reazifi‘;}z} 2= n(4-B)=4 n(U-(4 U B))=5
areaj’:? L4678 n(B-A4)=1 Math@MUT ]|
areal = {3,6,7,8, 11} nA A B)=1 n(A U B)=9
Ans2=| .1 = are;;ezaig,{lg,}l?)} L 2=| n(4-B)=5 n(U-(4 U B))=5
aread = {1,2,5,12, 14} n(B-4)=3 Math@MUT ]
[ areal=1{1,4,6,11} ] T
area? = {15} n(intersect(4, B, C)) =0 n(4d-B)=5
area3 ={9,12} n(union(4, B, C)) =14 n(B-4)=2
Ans3| 12 aread = {17} . n(4d N B)=1 n(C N (4uvB))=1
areas = { } i n(B N C)=0 n(Cu (4 nB))=8
areab = { } n(4 v C)=12 n(intersect(4, B, C)'): 17
area7 ={2,3,7,8,14,16} n(B v C)=10 Math@MUT
L area8 = {5,10, 13} ]
4w B={1,3,4,6,7,89,10,11} A =(4 v B={areal, area2, area3})
' 4N B={3,48} .2:(A—B':{area2})
A v B={2,3,45,8910,12,13} 3=((A4-B) n (B-A)={})
BN A= {1,6,7,11} 4=(4 v C={areal, areal, area4, areal, areab, area7 })
Ansd = A-B=1{9,10} . AnsS = S=(B n (4 v C)={area2, areal, areab})
B-A= {2,5,12,13} 6=((4 N B) U (B n C)={areal, areas, area6 })
(4 U B)=1{2,5,12,13} T=((B-4) N (B-C)={area3})
A N B={2,51213}
[Page = 0022]

8= (B, U C= {areal, area?, area3, aread, area7, areal8 })

9= (C/ N (A4 —B)’= {area2, area3, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12172

“:e“;fig’zi n(4 N B)=2  n(4du B)=7
Ansl =| 1= a:;ae;_% 510y p2=| MA=BI=2 n(U=(4 U B))=4
aread = (1,2, 4,6} n(B-4)=3 Math@MUT
areal = {sz,f,{z;, 13} n(4 N B)=0  n(4duU B)=8
Ans2=| 1= are;’;ef‘{; 4,14} ,.2=| n(4-B)=5 n(U-(4 U B))=6
aread = {3,8,10, 11,12, 15} n(B-4)=3 Math@MUT
[ areal = {9} ) i
area? = {2} n(intersect(4, B, C)) =1 n(d-B)=1
area3={1,7,11,12} n(union(4, B, C)) =11 nB-A4)=5
ns3=| 17— aread = { } 5 n(4d N B)=2 n(C N (4uvB))=2
=T areas = {14} e = n(B n C)=2 n(C U (4 N B))=6
area6 = {16} ndu C)=7 n(intersect(4, B, C)) =16
area7 = {0,4,13} n(Bu C)=10 Math@MUT
L Larea8 = {3,5,6,8,10, 15} ]

_A o B:{4’5’6’7’85 9> 117 12’ 135 157 16}_ I:(A N B= {areaZ})

AN B={} 2=(B-A'={area2})
A v B={4,517,8,9,10,12, 14} 3=((4 U B)': {aread})
BnA= 16, 11,13, 15,16} 4=(B v C={area2, area3, area4, area$, area6, area?7})
Ans4 = A-B=1{4,5,7,8,9,12} , Ans5 = S=(A4 n (B v C)={areal, aread, area’ })
B-A= {10, 14} 6=((4 N B) U (4 n C)={area2, aread, aread})

J=((B-4) U (B-C)={area2, area3, areab })
A~ B'=1{10, 14} 8=(B - C = {aread, area7})

L (4-B)=1{6,10,11,13,14,15,16} | L 9=((4—-C) — B ={area3, area’, areab }) J
):9:9:0.:9:9:9.0.9:9:9.0.9.9:9.0:0.9:9.0:0:0.9.0:0.9:0.0.0.9.9.0.0.9.9.0.0:0.0.0,0.9.0.0,0.:0.0.0:0.0.0:0:0:0.0:0.0.0.0:0:0.0.0.0:0.0.0.0:9.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0.0.0.0.9.0.0:0.0.0.0:0.9.0.0.0.:0.0.0.0:0.0.0.0:0.0.0:0.0.0.0:0.0.0:0.:0.0.9.0.:0.0.0.0.0.0.0.0:¢

(4 U B) ={10, 14}
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Set0l Answers for No.12173

areal = {3,5,8,15}

area2 = {12, 14} n(4 N B)=2 n(4 v B)=9

Ansl=| .1 = ,2=| n(4-B)=4 n(U-(4 U B))=4
area3 =1{9,11,13} _
aread = {4,6,7,10} n(B-4)=3 Math@MUT
areal = {4’27’,1{0’}11’ 13} n(d N B)=0 n(d4duUB)=8
Ans2=| 1= aredzs = ,2=| n(4-B)=5 n(U-(4 U B))=6

area3 =1{6,9,16}

aread = {5, 8,12, 14, 15,17} n(B-4)=3 Math@MUT
[ [ areal={4,10,13} | )
area? = {3,12, 14} n(intersect(A4, B, C)) =0 n(4d-B)=4
area3 = {5} n(union(4, B, C)) =10 n(B-4)=2
aread = {1} n(d N B)=3 n(C N (4 U B))=2
Ans3 =| .1 = ,.2=
areas = { } n(B nNnC)=1 n(Cu (4N B))=6
area6 = {7} n(d4 U C)=9 n(intersect(4, B, C)) =15
area7 = {15} n(Bu C)=7 Math@MUT
L Larea8 = {2,6,8,9, 11} ]
Av B={1,2,6,8,10,11,12,13,15} 1 =(A4'={area3, aread})
, A4nB=1{} 2=(A-B = {area2})
A v B={13,4, 5,’6, 7,9,11,12,13,14, 15} 3=((4 U B)’: {aread})
BN A={2810} ,4=(C’: {areal, area2, area3, area8 })
Ansd = A —,B: 11,6,11,12, 13,15} , Ans5 = 5=(C n (A U B)={aread, area5, areab})
B -4=1{3,4,5,7,9, 14} O6=((4 N C) v (B n C)={aread, areal, areab })
(4 U B)=1{3,4,5,7,9, 14} 7=((C-A4) n (C-B)={area7})
A N B'=(3,4,57,9 14} 8=(A'- B = {area3, area6})
. (4-B)=1{2,3,4,5,7,8,9,10, 14} ] L .9=(C n (B—A)={areal, area2, area8}) |
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Set0l Answers for No.12180

areal = {2, 6} nd nB)y=1 n(du B)=6
dnsl=| 1= arz;z"i?f’l{}g} 22| n(4-B)=2 n(U=(4 U B))=7
Laread = {3,4,5,9, 10, 12, 13} n(B-4)=3 Math@MUT
areal =10, 1,3, 8} n(d N B)=2  n(4du B)=7
Ans2=| 1= “re"zzfz{’;f} 2= n(4-B)=4 n(U-(4 U B))=4
are;;e:“ {; 5673 n(B-A)=1 Math@MUT
[ [ areal=1{6,8,9,10,11} | il
areal = {4} n(intersect(4, B, C)) =0 n(4d-B)=5
area3 = {14, 18,19} n(union(4, B, C)) = 12 n(B-4)=3
P . aread = { } S n(4 N B)=1 n(C N (4 U B))=0
area’ = { } i n(B N C)=0 n(Cu (4 nB))=4
areab = { } n(4 v C)=9 n(intersect(4, B, C),): 18
area7 ={7,13,17} n(Bu C)=7 Math@MUT
L Larea8={2,3,5,12,15,16} | ]
AU B=1{2,4,6,7,9,11,12,14,15} i 1 =(B ={areal, aread’}) ]
, 4N B={4,6; 2=(B-A'={area2})
AU B'=12,3,4,56810,11,12,13, 14,15} 3=((4 U B) = laread})
B nA={79} 4=(B v C={area2, area3, area4, area’, areab, area?7})
Ansd = A-B={2,11,12,14,15} , Ans5= S=(A4 n (B v C)={area, aread, area5 })
B-A= {3,5,8,10,13} 6=((A4 N B) U (4 n C)={areal, area4, areal })
(4 v B)’: {3,5,8,10,13} J=((B-4) U (B-C)={area2, area3, areab })
A n B'={3,58,10,13} 8=(B - A = {areal, aread})
L (A4-B)={3,4,5,6,7,8,9,10,13} ] L 9=((C—A) - B = {area2, area3, area5}) ]
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Set0l Answers for No.12256

areal = {10, 12,13}

area2 = {8} n(4 N B)=1  n(4uU B)=8

Ansl=| .1 = ,.2=| n(4-B)=3 n(U-(4 U B))=4
area3=1{3,7,9,11} B
aread— {456,141 n(B-A)=4 Math@MUT
“re“];{?’lﬁ} n(d N B)=1 n(4du B)=7
Ans2 =| 1= aredz= 2= n(4-B)=2 n(U-(4 U B))=8

area3 =1{4,8,9,11}

aread = {5,7,10, 12, 13, 15, 16, 17} n(B-A)=4 Math@MUT
[ [ areal = {9} ] ]
area? = {16} n(intersect(4, B, C)) =0 n(4d-B)=2
area3 ={3,5,6} n(union(4, B, C)) =10 n(B-—A4)=3
ns3—| 1= aread = {14} . n(4d N B)=1 n(C n (4 v B))=1
area’ = { } i n(B N C)=0 n(Cu (4 nNB))=6
area6 = { } ndu C)=7 n(intersect(4, B, C)) =17
area7 ={1,7,11, 15} n(Bu C)=9 Math@MUT
L Larea8 = {0, 2,4,8,10, 12,13} i
A U B={3,5,10,12, 14,16} 1 =(B'= {areal, aread })
4N B={1214,16] 2= (B - A'= {areal })
AU B=1{4,56,7,8,9,11,12,13,14,15,16} 3=((A-B) " (B-A)=1{1})
Bnd= 13,10} 4=(B v C={area2, area3, area4, area5, areab, area7 })
Ans4 = A-B=1{5} , Ans5 = S5=(C n (A v B)={aread, area5, area6})
B-4= {4,6,7,8,9,11,13,15} 6=((4 N C) v (B n C)={aread, area’, areat })
(4 U B)=1{4,6,7,8,9,11,13,15} 7=((A-B) n (A-C)={areal })
A N B={46,7,8,9 11,1315} 8=(B - C = {aread, area7})
L(A-B)'=1{3,4,6,7,8,9,10, 11, 12, 13, 14, 15, 16} ] L 9=(C N (4-B) = {areas, areab, area’} ) J
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Set0l Answers for No.12278
areal = {6,11,13} N4 ~ B)=3 n(4 U B)=6
Ansl =| 1= “’eajr:ag% 12;14} 2= n(4-B)=3 n(U-(4 U B))=7
aread = 1{3,4,5,7,8, 10, 15} n(8-4)=0 Math@MUT
areal = {7, 11} n(d N B)=3  n(4 U B)=8
Ans2=| 1= “re“23:_{{32’4é 190}} 2= n(4-B)=2 n(U-(4 U B))=4
afgjj :‘{ 0.1.5.6) n(B-A4)=3 Math@MUT
[ [ areal = {15} i -~ |
area? = { } n(intersect(4, B, C)) =0 n(4-B)=3
area3 = {0, 5, 10, 14} n(union(4, B, C)) =12 n(B-4)=4
ns3—| 1 aread = {1, 8} e n(4 N B)=0 n(C N (4uv B))=2
area’ = { } ’ n(B N C)=0 n(Cu (4 nB))=7
areab = { } n(4 v C)=8 n(intersect(A4, B, C)'): 16
area7 = {3,4,7,9,12} L n(Bu C)=11 Math@MUT
L area8=1{2,6,11,13} | ]
[ AU B= {34567 10, 11, 13} i [ A =(A4 = {area3, aread}) |
AN B={6T} 2=(A-B = {area2})
4V B= {'3, 6,7,8,9,12, 14,15} 3=(4" U B ={areal, area3, aread})
BN A=1{45101113} 4= (B’: {areal, area4, area7, area8 })
Ansd = A-B={3} , Ans5 = S5=(C U (4 n B)={area2, area4, area$5, areab, area?7 })
B'-A4=1{89,12, 14,15} 6=((4 v C) n (B v C)={area2, aread, area5, areab, area?7 })
(4 v B)’: {8,9,12,14,15} 7=((C—-4) u (C—-B)={aread, areab, area7 })
A N B= {8,9,12,14, 15} 8 (B' U C= {area] areal, area3, area4, area7, area8 })
L(A - B) =1{4,5,6,7,8,9,10, 11,12, 13, 14, 15} 9=((4- B) — C={area2, area3, area8 }) ]
DIO00:00:00:0:0:0:0:0:0:0:0:0:0/0.0:0:0.0:0:0:0.0:0:0:0.0.0:0:0.0.00:0:0.0'0.0:0.0.0:0.0.0.0:00:0.0.0.0:0:0.00:0.0.0.0:0.0.0:0:0:0.0.0:0:0.0'0.0:0.0.0.0.0:0.0.0:0:0.0.00:0.0.0'0:0:0.0.0.0:0.0.0:0:0.0.0'00:0.0.0:0:0.0'0.0:0.0.0.0:0.0:0:0:0.0.0'0:0:0'0'0:0:0.0:
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Set0l Answers for No.12482

areal ={7,9,12}
areal = {8}
area3={5,6}
aread4 = {3,4,10, 11, 13}
areal = {6,7,11,12,13, 14}
areal = { }

n(4d nB)=1 n(4uU B)=6
L 2=| n(4-B)=3 n(U-(4 U B))=5
nB-A)=2 Math@MUT

Ansl =| .1 =

n(4 n B)=0  n(4 U B)=9

Ans2=| .1= area3 = {3,4.8 ,.2=| n(4-B)=6 n(U-(4 v B))=3
areat = 5,9, 10} n(B-4)=3 Math@MUT
[ [ areal = {12} ) ]
area? = {1, 16, 18} n(intersect(A4, B, C)) =0 n(4d-B)=2
area3 = {13, 15} n(union(4, B, C))=9 n(B-A4)=3
dnsi<| 12 aread = {11} 2 n(4d n B)=3 n(C N (4 v B))=2
area’ = { } i n(B N C)=1 n(Cu (4 nNnB))=6
area6 = {6} nd u C)=7 n(intersect(4, B, C) )= 18
area7 = {5} n(Bu C)=8 Math@MUT
L Larea8={2,3,4,7,8,9,10, 14,17} J
[ A U B=1{506,7,8,9,10, 12,15, 18} i I 1=(4 U B={areal, area2, area3}) ]
- AN B={510} 2=(B'-A={aread})
A v B={4,58,9,10,11,13,14,16,17} 3=((4 U B) = {aread})
Bnds= {6,7,12,15,18} 4= (C’= {areal, area2, area3, area8 })
Ans4 = 4-B={89} , Ans5 = S5=(C U (4 n B)={area2, area4, area$5, areab, area?7})
B-A= {4,11, 13,14, 16,17} O6=((4 v C) n (B vy C)={area2, aread, area’, areab, area7})
(4 U B)={4,11,13,14, 16,17} 7=((A-B) n (A-C)={areal})
A~ B'={4,11,13,14,16,17} 8=(A4 ~ B ={area’, area8})
[(A—-B) ={4,5,6,7,10, 11,12, 13, 14, 15,16, 17, 18 } | L 9=((4—-B) — C={area2, area3, area8}) ]
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Set0l Answers for No.12586

areal = {11} nd N B)=2  n(duU B)=7
dnsi=| 1= Ve =ARTE o | A—B)=1 n(U—(4 U B))=4
area3={3,6,9,12} n(B-A4)=4 Math@MUT
area4 = {5,8,10, 13}
areal = {5, 7} n(d n B)=3  n(4uU B)=6
Ans2=| .1 = “reajr:aglf’{z3i 14} L 2=| n(4-B)=2 n(U-(4 U B))=8
aread =16,8,9, 11,12, 15, 16,17} n(B-A)=1 Math@MUT
[ [ areal = {11,20} ) )
area? = { } n(intersect(A4, B, C)) =1 n(d-B)=3
area3 = {15} n(union(4, B, C))=9 n(B-4)=2
nsi<| 1< aread = {19} P n(4d N B)=1 n(C N (4 v B))=3
' area5=1{7} > n(B N C)=2 n(C U (4N B))=6
area6 = {18} n(d v C)=8 n(intersect(4, B, C)) = 18
area7 = {4,8,16} n(Bu C)=7 Math@MUT
| larea8=12,3,5,6,9,10, 12,13, 14,17} ]
A v B=1{2,4,5,6,8,9,10,12,13} 1=(B= {areal, aread})
’ 4 N B={4,8,10} .2:(A,—B={area4})
A U B={3,4,6, 7, 8,9,10,11, 12,13} 3=((4 U B) = {aread})
BN A=1{2,5} 4=(B v C={area2, area3, area4, area’, areab, area7})
Ans4 = A4-B={6,9,12,13} , Ans5 = S5=(C n (4 v B)={area4, areal, areat })
B -A= {3,7,11} O6=((4 N C) v (B n C)={aread, areal, areab })
(4 U B)=1{3,7,11} 7=((A-B) n (A-C)={areal })
A N B= {3,7,11} .8=(A' U B'= {areal, area3, area4, areab, area7, area8})
L (A—B)'={2, 3,4,5,7,8,10,11} | L 9=(B N (C—A),z{areaZ,area3,area5}) |
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Ans4 =

;ZZ;;?;%% nd N B)=2  n(du B)=7
Ansl =| .1 = area3 = {1,4,6,10} ,.2=| n(4-B)=1 n(U-(4 U B))=6
aread = {3,5,8,9, 11, 12} n(B-4)=4 Math@MUT
m“”;;gj}tho} n(d N B)=1 n(4du B)=8
Ans2=|.1= area3 = {7.8) ,.2=| n(4-B)=5 n(U-(4 v B))=4
areat = {1,3,9.11} n(B-4)=2 Math@MUT
[ [ areal = {3,7,8,12} | 1
areal = {2} n(intersect(4, B, C)) =1 n(4d-B)=5
area3 = {0} n(union(4, B, C)) =11 nB-A4)=4
ansi<| 12 aread = {6} e nd N B)=2 n(C N (4 v B))=5
area5 = {9} ’ n(B N C)=4 n(Cu (4N B))=6
area6 = {1, 10, 11} n(d U C)=10 n(intersect(4, B, C)) = 14
area7 = { } n(Bu C)=7 Math@MUT
L Larea8 = {4, 5,13, 14} ]
4V B={2,3,4,6,7,38,10,12} [ 1 =(A4 = {area3, aread})
f4 N B={3,4,7,8,12} .2=(A'—B':{area3})
AU B :{3,4,5,6:7, 8,9,10, 11, 12} 3=((4 U B) = {aread})
B nAd={2} 4=(A N C={area4, areas})
A4-B={6,10} , Ans5 = S5=(C U (4 n B)={area2, area4, area5, areab, area?7 })

B -A4=1{509,11}
(4 U B)=1{509,11}
A4 N B={50911}

L (A—B)’: {2,3,4,5,7,8,9, 11,12} |

7=((B-4) n (B-C)={area3})
.8=(A' N B'= {area7, area8})
9=(4 N (B—C)’: {areal, area4, area’ })

O6=((4 v C) n (B v C)={area2, aread, areas, areab, area?7 } )

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12677
areal = {5,7,8,11}

area2 =1{9} n(4d N B)=1 n(4 U B)=10

Ansl =| .1 = ,.2=| n(4-B)=4 n(U-(4 v B))=3
“”e;’fe; 4{:1’ {23’,64’1126 }13 } n(B-A)=>5 Math@MUT
ar:;;(i]{:o{;}z} n(4d N B)=3  n(4du B)=8
Ans2=|.1= area3={4,7’,é,10}"2: n(d-B)=1 n(U-(4 v B))=3
aread = 1{5.6,9} | nB-4)=4 Math@MUT
[ areal = {9, 11,14} | i )
area? = { } n(intersect(4, B, C)) =1 n(4-B)=3
area3=1{3,5,6} n(union(4, B, C)) =12 n(B-A4)=4
nsi<| 12 aread = { } . n(4d N B)=1 n(C N (4 v B))=2
aread = {7} i n(B N C)=2 n(C v (4 nB))=6
areab = {15} n(d4d v C)=9 n(intersect(4, B, C)) =16
area7 = {8,10, 12,16 } L n(B v C)=9 Math@MUT
L Larea8 = {1,2,4,13,17}] ]
A v B={3,5,7,8,10,12,13,14} i [ A=(A N B={areal}) i
AN B={37,10,14} 2=(B'-A={aread?)
A v B=1{1,273,4,6, 7,’ 8,9,10,11,12,13, 14} 3=((4 N B) = {areal, area3, aread})
B nA={5} ,4=(C’: {areal, area2, area3, area8 })
Ansd = A-B={8,12,13} , AnsS = 5=(C U (A4 N B)={area2, aread, area’, area6, area?7})
B —A= {1,2,4,6,9,11} O6=((4 v C) N (B vy C)={area2, aread, area’, areab, area7 })
(4 U B)=1{1,2,4,6,9,11} 7=((A-B) n (A-C)={areal })
A N B= {1,2,4,6,9,11} 48:(A' uC= {areal, area?, area3, areab, area7, aread } )
L (4-B)=1{1,2,3,4,5,6,7,9,10,11,14} | L 9=((B—A) - C = {area4, area$, area7}) ]
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areal = {3,11,12}

area? = {4} n(4d N B)=1 n(4d v B)=6
Ansl =| .1 = area3 = {13, 14} ,.2=| n(4-B)=3 n(U-(4 U B))=7
aread=1{5,6,7,8,9, 10, 15} n(B-4)=2 Math@MUT
areal = {3, 14} nd nB)=1  n(4uU B)=8
Ans2=| .1 = area2 = {10} L 2=| n(4-B)=2 n(U-(4 U B))=4
area3 =1{3,4,8,11,13} n(B—A)=5 Math@MUT
aread ={6,7,9,12}
[ [ areal = (3,9} | i
area? = {11} n(intersect(4, B, C)) =0 n(4-B)=2
area3 ={6,12} n(union(4, B, C)) =10 n(B-4)=5
aread = { } n(4d N B)=1 n(Cn (40U B))=3
Ans3 =| .1 ,.2=
area’ = { } n(B N C)=3 n(Cu (4N B))=6
area6={1,7,13} n(d4 U C)=8 n(intersect(4, B, C)) =13
area7 = {5, 8} n(Bu C)=8 Math@MUT
L Larea8 = {2,4,10} ]
4w B={2,3,4,56,80911} i :(A,: {area3, area4})
’AmB={6} 2=(4-B = {area2})
4V B={2567810,12} 3=((4-B) U (B—A)={areal, area3})
B nA4={3,4911} .4=(A’: {area3, areab, area7, area8 })
Ans4 = 4-B={2,5,8} , Ans5 = S5=(C U (4 n B)={area2, area4, area$5, areab, area7 })

B —A={7,10,12}
(4 U B)=1{7,10,12}
A~ B'={7,10, 12}
[(A—B) =1{3,4,6,7,9,10, 11, 12}

O6=((4 v C) n (B y C)={area2, aread, area’, areab, area?7})
7=((B-4) v (B-C)={area2, area3, area6 })
8= (A' U C= {areal, area?, area3, areab, area7, areas })
9=(4 N (B-C) = {areal, area4, area5})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.13500

areal = {1,2,12}

area? ={ } n(4 N B)=0 n(4d v B)=9

AnsI=1- 1= a3 =(3,5.7.8,9. 11312~ Eﬁg_fiiz n(UA;fli@Uij)T)_“
area4 = {0,4,6,10}
area]:glf,l4,l6} nA ~ B)=1 n(A U B)=S8
Ans2=| 1= areaSa:re?9,_l(;{,51}i,l8} 2= n(4-B)=3 n(U—-(4 U B))=7
aread = {4,6,7, 8,13, 15,17} n(B-4)=4 Math@MUT
[ [ areal = {2,7} i l
area? = {9} n(intersect(4, B, C)) =2 n(4A-B)=4
area3 = {6,13} n(union(4, B, C)) =11 n(B-4)=2
ansi<| 12 aread = {8,10} . n(4 N B)=3 n(C N (4 U B))=4
‘ areas={0,11} [ nB n C)=2 n(C U (4N B))=7
areab = { } n4 v C)=9 n(intersect(A4, B, C)'): 13
area7 = {3,12} n(Bu C)=9 Math@MUT
L Larea8 = {1,4,5, 14} i
AUB:{1’2’3’55657>9} i .1:(AmB:{area2}) 1
AN B={} 2=(B-A'={areal})
A v B=1{0,2,3,47,8,9,10} 3=((4-B) n (B-A)={1})
Bnd= 11,5,6} .4:(C’: {areal, area2, area3, areas8 })
Ans4 = A-B=1{2,3,7,9} , AnsS = S5=(C n (A v B)={aread, area5, area6})
B -A= {0,4,8,10} 6=((4 N C) v (B n C)={aread, area’, areab })
(4 U B)=1{0,4,8,10} 7=((4-B) N (4-C)={areal})
A~ B'={0,4,8,10} 8=(B U C={areal, area, area3, aread, area’, area8})
L (4-B)=1{0,1,4,5,6,8,10} | L .9:((C—B)’—A’:{area],areaZ,area5}) ]
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